(AUTONOMOUS)

(Affiliated to Periyar University, Salem)
[Accredited by NAAC with 'A' Grade & Recognized u/s 2(f) and 12(B) of the UGC act 1956]
Kalippatti - 637 501, Namakkal (Dt), Tamil Nadu.



# MENTOR-MENTEE RATIO FOR LAST FIVE YEARS

#### (Autonomous)

Affiliated to Periyar University, Salem.

Accredited by NAAC with 'A' Grade & Recognized u/s 2(f) and 12(B) of the UGC Act 1956

Kalippatti – 637 501, Namakkal (Dt), Tamil Nadu.

Mentor-Mentee ratio: (2020-21)

Department	Mentor Strength	Mentee Strength
Tamil	11	117
English	12	151
JMC	3	26
Mathematics	11	191
Statistics	7	41
Physics	7	91
Chemistry	7	188
Biotechnology	12	212
Computer Science and applications	21	564
Commerce	10	435
Commerce CA	7	310
BBA	4	192
Total	112	2518

Mentor-Mentee Ratio: 2518/ 112 = 22.48

PRINCIPAL
MAHENDRA ARTS & SCIENCE COLLEGE
(Autonomous)

Kalippatti (PO) - 637 501, Namakkal (DT)

PRINCIPAL
PRINCIPAL
MAHENDRA ARTS & ACIENCE COLLEGE
(Autonomous)
Kalippatti (PO) - 637 501, Namakkel (DT)



Affiliated to Periyar University, Salem.

Accredited by NAAC with 'A' Grade & Recognized u/s 2(f) and 12(B) of the UGC Act 1956

Kalippatti – 637 501, Namakkal (Dt), Tamil Nadu.

Mentor-Mentee ratio: (2019-20)

Department	Mentor Strength	Mentee Strength
Tamil	14	115
English	16	169
Journalism and mass communication	03	31
Mathematics	12	262
Statistics	08	46
Physics	08	134
Chemistry	08	248
Bio technology	11	244
Computer Science and applications	21	563
Commerce	10	392
Commerce CA	08	288
BBA	04	152
TOTAL	123	2644

Mentor-Mentee Ratio: 2644/ 123 = 21.5

PRINCIPAL

MAHENDRA ARTS & SCIENCE COLLEGE

(Autonomous)

'alipoatti (PO) - 637 501, Namakkal (DT)

PRINCIPAL
MAHENDRA ARTS & SCIENCE COLLEGI
(Autonomous)
Kalippatti (PO) - 637 501, Namakkal (DT)



Affiliated to Periyar University, Salem.

Accredited by NAAC with 'A' Grade & Recognized u/s 2(f) and 12(B) of the UGC Act 1956

Kalippatti – 637 501, Namakkal (Dt), Tamil Nadu.

Mentor-Mentee ratio: (2018-19)

Department	Mentor Strength	Mentee Strength
Tamil	17	126
English	18	195
Journalism and mass communication	03	29
Mathematics	14	322
Statistics	07	45
Physics	14	173
Chemistry	10	274
Bio technology	13	288
Computer Science and applications	22	550
Commerce	07	292
Commerce CA	10	281
BBA	04	139
Total	139	2714

Mentor-Mentee Ratio: 2714/ 139 = 19.52

PRINCIPAL
MAHENDRA ARTS & SCIENCE COLLEGE
(Autonomous)

Kalippatti (PO) - 637 501, Namakkal (DT)

PRINCIPAL

PRINCIPAL

MAHENDES ARTS & SCIENCE COLLEC (Autonomous)

Kalippatti (PO) - 637 501, Namakkal (DT



#### (Autonomous)

Affiliated to Periyar University, Salem. Accredited by NAAC with 'A' Grade & Recognized u/s 2(f) and 12(B) of the UGC Act 1956 Kalippatti - 637 501, Namakkal (Dt), Tamil Nadu.

Mentor-Mentee ratio: (2017-18)

Department	Mentor Strength	Mentee Strength
Tamil	19	133
English	18	213
Journalism and mass communication	02	20
Mathematics	17	398
Statistics	06	30
Physics Chemistry	14 12 13	197 276 289
Computer Science and applications		
Commerce	08	270
Commerce CA	11	309
BBA	04	116
Total	147	2750

Mentor-Mentee Ratio: 2750/ 147 = 18.71

**PRINCIPAL** MAHENDRA ARTS & SCIENCE COLLEGE

(Autonomous)

Kalippatti (PO) - 637 501, Namakkal (DT)

MAHENDRA ARTS & SCIENCE COLLEGE (Autonomous)

Kalippatti (PO) - 637 501. Namakkal (DT)

(Autonomous)

Affiliated to Periyar University, Salem. Accredited by NAAC with 'A' Grade & Recognized u/s 2(f) and 12(B) of the UGC Act 1956 Kalippatti - 637 501, Namakkal (Dt), Tamil Nadu.

Mentor-Mentee ratio: (2016-17)

Department	Mentor Strength	Mentee Strength
Tamil	16	125
English	19	231
Journalism and mass communication	02	03
Mathematics	14	427
Statistics	05	13
Physics	09	200
Chemistry	09	240
Bio technology	12	236
Computer Science and applications	24	436
Commerce	07	237
Commerce CA	09	353
BBA	03	111
TOTAL	129	2612

Mentor-Mentee Ratio: 2612/ 129 = 20.24

PHINCIPAL MAHENDRA ARTS & SCIENCE COLLEGE

(Autonomous)

Kalippatti (PO) - 637 501, Namakkal (DT)

PRINCIPAL MAHENDRA ARTS & SCIENCE COLLEGE

(Autonomous) Kalippatti (PO) - 637 501, Namakkal (DT)